PART-II
GENERAL AFTITUDE TEST

101. Which figure should come in place of question mark (7)

VA F|E
« [O)
()

(b)

o [B

id) MNoneofthe above

102. 1f f{z) = [s %J then

flzy+f [I] has the value

(a) 16
(h}y O

1
() T+
)y 1
103. If the cost of two books and five pens 15 ¥ 225 and the cost of four pens and three books 13
¥ 320, then what is the cost of one pen 7
(a) 7
(b) @
{c) 4
(d) 5
104, If X: 11 12 13
Y13 12 11
then covanance is
ia) 23
(b) (0

ic) |
(d)y 23

105. The probability of getting a sum 10 in the throw of two dices is
(&)

(b}
(]

(d)
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101, Wraras [qeq () % T4 07 H= 5 o wmEr 9

NMIN[QI[

tal

(b)

()
(d) T H TG A8l
1.
102, 3% f{z) = [ EJ,HT

fiz) + r( :]Eﬁrm:rit

()
{b)
(c)
(d)
103, afF 3t FopamEi mn o et o qen ¥ 225 & it s e wan o fat = qe € 320 £ A
T e W R T
{ay 7
by 6
) 4
{dy 5
104, g X: 11 12 13
13 12
A WETE #
{g) ~-2/3
by 0
e} -1
(dy 21
105, 31 91 % 39 A 10 s St wias ai

{a)

= 10]Q[0)

-h-l'--l‘-'."-'

(b)
(c)

()
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106, How many triangles are there in the following figure !

(@)

by @
e 12
(dy 15

107, Which of the following is most affected, by extreme values of the vanable 7
(a) Median
(b) Mode
(e} Anthmetic Mean
{d) None of the above

108. Choose the diagram that illustrates the relationship of Females, Mothers and Posi-graduates.

{1 (2) (3) (4)

{a) |1
{b) 2
¢} 3
(d) 4

109. Complete the senes :
Sunday, Monday, Wednesday,
Saturday, Wednesday, Monday,
(a) Sunday, Sunday
(b} Sunday, Monday
{c)  Sunday, Wednesday
{d}) Sunday, Sarurday
Series-I» 34 SAL

S ——



1,

107,

104,

SAL

Cifonfin et T e gt 7

A4

(a) B
(b} 9
() 12
(dy 15

Fer & & S 1, o & o0 9 S OE | SeiE we s E 0
(a) wie

(b) WEHAF

(¢} HETHE HEY

(d) U o W w

0 W w b it o et et s e & wee s s e

@&

ia)
(b)
(c)
(d)
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110

111.

112.

113.

114.

115.

116.

Which of the following planets takes the longest me for one revolution round the Sun
(a) Earth

(b) Satumn

(c) Jupiter

(d) Mars

A drop of water i sphencal in shape. This i1s due to :
(@) Surface tension

(b) Low temperature

{c)  Adr resistance

(d) Viscosity of water

Which one of the following Indian Banks 15 not a nationalised bank 7
{a) Corporation Bank

(b) Dena Bank

(¢) ICICI Bank

(d) Vijaya Bank

Who among the following invented Lasers 7
(a) Theodore Maiman

(b} Dems Papin

ic)  William Morton

(d) Francis Crick

Who is the President of the Council of Scientific and Industrial Research 7
() President of India

{(b) Vice-President of India

{c} Prime Minister of India

{d) Union Minister of Science and Technology

Which one of the following Stales is smallest in area 7

() LUP

(b) M.P.

ic) Rajasthan

{d) Uttarakhand

The moons of the Planct Jupiter was discovered by any one of the following scientist
(a) Mewion

(b} Galileo

(¢) Kepler

(d) Copemicus
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112

113
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(4) gt
(h ¥
(e) Fwmia

(dy w

e T IR F f, T S
{a) Y=OE

{b) =FE TAHEH

(c) g WidTg

(d) T T

Fory wd A1 6 W FF W e 9 w6
(a) EATIEE o

(h) & a4

(¢} SR AEE IR &

(d) T g%

W= 0 1 e FT W AR e 2
{a) PgmTER-AEA
{by EFH o=
ic) Tafemy Wi
(d) A

vl ST T T yuefeae T 5 e w7
(a) A & A

(b) A & I

(¢) TR & WarE wE

(d) g FEier #iw A ud dter

Fret 1 9 = o1 T, S O aEd S 7

(@) FOCWEH

() e W

(¢} TrAEEMF

(d) FeTEE

SR WE 9 SrEaiAl e e i e o e
(&) A
(by TR
c) HEH
id) TIHFEEE
37

Series-1



117. The energy of winds is
{n) onlypotontial
(b} only kinetic
{c} Electrical
(d} Potential and kinetic both

118, The “Standard Deviation' of natural numbers from 1 1w 5 is

(a) 2.0

thy 1414
ic) |48
idy 146

.
119, The difference between 8 and %nf & number 15 20, then the number is

(a) 1140
(b) 1120
e} 1136
() 1132
120. The Central Statistical Unit was established in the year
(a) 1947
(b} 1949
(¢} 1951
{d} 1961

121. A passenger travels from Delhi to Meerut at a speed of 30 kmvbr and return with a speed of
© 60 km‘he. What is his average speed 7
(a) 40
(b} 45
(e} 50
(d) <8

122. Shoe size of most of the people in India 1s No.8. Which measure of central value does it
represent 7
() Mean
(b} Maedian
(e} Mode
(d) Fourth decile

123. Suresh types 150 words in 4 minutes and Mohan types 150 words in 5 minutes. then in how
much time they together type 375 words 7
25
(a) 3" minutes
(b} 3 minutes
. o
[[+9] m nunutes
{a) 5 minutes
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117. g=nsdi %1 ] Bl
{a) Tae A
(b) e e

(c) dmm
(d) Teaferm s nies 540

118, SRpiAS 4EE#H | § § 75 5 wed Eee §
{ay 2.0
(b 1.414
(c) 1.48
id) 146

119, ﬁmﬂrgﬁmﬁr%g 1 aF= A 20 &, At ween ¥

(a) 1140
(b} 1120
c) 1136
(d) 1132

120, F=1a WiEaH T T w A ol g o, aw
(a) 1947
(b) 1949
{¢) 1931
(d) 1961

121, T ardt feedt @ dae a0 Feedt of e 5t ol 3 s & ST 60 Rl o w2 = ofR @ s s
¥ |3 A
(a) 40
(b} 45
{c) 50
(d)y 48

122, TTHFEE: A H T H S 8 TS A | 9E $ 6 2 wgih = i e i o
(a) A
(b) iz
(c) HEFR
(d) T T
123, | 4 92 9 150 7195 2099 &0 §, TiE qiEd 5 e #0150 wey, o aensd 375 W u% En
218 Il U & T |Hg el ]
(a) L;_SﬁHE
(b) 3fe
50
(c) —g,'ﬁfl’l?.
(dy 5P



124. It x i 4 5

y : 15 18 21
then equation of v can be represented as
(a) y=3xc+2
(b} y=3x+6
{¢) y=x+12
(d) y=2x+9

125. Which of the following cannot be obtained by graphical method ?
ia) Arnthmetic Mean

(b) Median
(€} Mode
(d]  Quartile

126. In a frequency distribution which of the following may have more than one value !
(a) Arithmetic Mean
(b} Maedian
(c) Mode
(d) Geometric Mean

127. The value of the polynomial expression :
vr — dr+ 3 js eeraifyis

fa) Oorl
(b} 3orl
{g). lord
(dy -2or2

128. For a distribution Mean is 70, Median 15 75 and Coefficient of Skewness 15 (—) 0.8, The
coelficient of varation is
(a) &5
{b) 26.78
fc) 2568
(d) 7250

129, The sum of binomial coefficients in the expansion of (1 + x)" is
(g) S2M
(b) 2°-1
fe) 2%+
{d) ",
130. If [A | =15, |A,| =8, |Agl =6 and |A; 0 Ay Ayl =3 then A 2 Ay Ay will be
(a) 32
(b} less than or equal to 23
{c] greater than 32
(d) greater than 23
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124.

125.

116.

117,

128.

129,

130.

WEx: 3 4 5

y : 15 18 21
iﬂ?ﬁ)ﬁﬁﬂ¥ﬁﬂﬁﬂmﬁﬁzqiﬁ
{6) y=3c+2
(b) y=3x+6
() y=x+l2
(d) y=Ix+9

ey o 1 Tt ey et i ® AR A S 7
(a)  HET HRE

(k) e

(c) EEETER

(d) =

T gt feree o et o o e @ ot o A w Y
(a) HEFET IE

(hy g

{c) ®gEh

(d) TR AR

g i R L —dx AR A R AR
(a) O 32

(b) 3

(c) | 304

(d) —2 a7 +2

el w7 7 T 10, R 75 3 Ty wpovie (<) 0.8 &, o e v &
(a) 85

(by 2678

(c) 25.68

(d) 72.50

(1 +x)" % Taaw W o T s
(n) 29

by 2°-1

() 22+1

(d)y "C

a (A | = 15, 1Ay =8, [A| =6 A, A, M Ay =3E T A wA U Ay B
(a) 32
(b) 23 % TOET 97 I T
(c) 324 =g
() 23dEm
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131.

132,

133,

134

135,

136,

On a circle of radius 4 units, there are two points P and Q. The maximum length of arc
which separates P and Q 15 ; (where = 22/7)

(a) B=

() 4=

(e} 4

)y Zn

The arthmetic mean of some observations 15 — 4 and harmonic mean 15 — 9, The geometric
mean will be

(@, =13
(b} -6

{c) -18
(d) 6

Twenty years ago the ratio between the ages of Hari and Manu was 1 ;4 and al present, it is
1 -2 What is the age of Hari mt present 7

fay 25 vears

(b} 30 years

(c) 35 vears

(d) Noneof the above

What will be the next number in the following sequence 7
9,8; 8,8 7, 8: 6,

(a} 4

{by 3

c} ©

(d) &

Which one is the wrong term in the senes 7
8,13,21,32,47,63,83,

(@) 21

(b} 13

icy 83

iy 47

If the length and breadth of a rectangle are each decreased by 20%, then the percentage
decrease in area of the rectangle will be

(a} 20%
(h) 40%
c) 36%
(d) MNone of these
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131, 4 g5 P o g e 6 fag oot Q B o 30 T i s v S g P ool Q = e
=i & (@ wa=227)
(a) 8Bm
by 4n
{c) 4
) 2=

132, T S P T ST — 4 T FO A - O # | I e #m

{a) -13
ib) -6

{c) 15
{d} —36

133, s o T A T O W A W | - 4 W A S A 6 s | 2 B ) e
o gft =1 g Pt & ¢
{a) 25¥m
(b) 30
(¢} 35@m
(d)  3IwgE | | F

134, 7797 sjmen % 3ren 3 = A 7

9. 8.8, 8.7, 8,6,
{a) 4
{(b) 3
(e} 6
(dy 2

135, Fer Sl o e S A W R T
8,13,21,32,47,63,83,
(a) 21
0y 13
{c) 83
(dy 47

136, T T wEA e i O @ e w 20% we R W, o 59 A & dawe |
e, T R
fal 20% i
(b)y 40%
ic) 36%
(dy  Feee o O S
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137.

138.

139.

140,

141.

142.

143.

The smallest number which when reduced by 7, is divisible by 12, 16, 18, 21.is
{a} 1008
(b} 1015
{¢) 1022
(d) 1032

Which one will replace the question mark 7

(&) 40
by 46
(c)] 96
idy 75

In the sequence 462, 420, 380, x, 300, x 15
(a) 322
(b} 332
(¢} 342
(d) 332

The word which cannot be formed using the letters of the word
‘TRANSPORT 15!

{a) SPURT

(b} STRAP

(c) TRUST

(d} START

Which of the following options is not related with presentation of data 7
(a) Editing of data
(b} Statistical tables

{¢) Dhagram
(d)  Graph

I'he product of two numbers is 120 and the sum of their square is 289, The sum of numbers
will be

(a) 20

(b) 23

{¢) 169

(dy 7

Five girls are sitting on a bench to be photographed. Seema is to the left of Rani and to the
right of Bindu, Mary is to the left of Rani. Reeta is between Rani and Mary. Who 18 sitting
immediately right to Reeta ?

{4} Bindu

(k) Faoam

tc) Mary

(d} Seema
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137, = S ¥ il s fred 7 9EE WA 12, 16, 18w 21 # T & o, #
(a) 1008
by 1015
(c) 1022
(dy 1032

{38, T e w1 ae wfewnios =

(a) 40
(b 46
{cy 90
(dy 73

139, FTEE A 462, 420, 380, ¥, 306 Ar®
fa) 322
by 332
¢y 342
() 352

140, 3% 7= = & 7= ‘TRANSPORT’ - it ST ST S FET S W, €
{a} SPORT
(b) STRAP
¢y TRUST
(d}y START

141, T= & & W fae S W v A i
(n) TERET W HEIEA
(hy e AR
() =

(dy #EE

142, # st e 120 vd S A 289 F, A 4 dam s A Em
{a)y 20
(h} 23
e} 6%
dy 7

143, T FrEREEt U e T R o ferd 3R | e T % il e e e S AT e 1

Tt A A |$m,nﬁrmﬁﬂﬁaimﬂ%.?ﬁfmﬂ7qmﬂw"maﬁqﬂh

(a) Frg
(b) T
{c) Tl

(dy
SAL 45
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144,

145.

146.

147.

148.

149,

If the: value of mode is 25.5 and the value of median is 16.5, the value al Arithmetic Mean
will be

{a} 13.5

(b} 5.0

[y 125

(dy 12

Which of the following is most viscous 7
(@) Alcohol

(h) Water

(c} Honey

{d) Gasoline

Stars of extremely high densities are called
(a) Supemnova

(b) Neutron slars

(c) Binary stars

(d) Asteroids

Which of the following is the sum of prime numbers lying between 15 and 30 7
(a) 103

{(b) 90

(¢) 1138

(dy BE

Find out the missing number :

1,0, 1,8, 27,7

{a}) -24

{hy 24

{c)] 60O

d) o4

1. A3P means A is the mother of P

2. A4P means A is the brother of P,

3. A9P means A is the husband of P'.

4. ASP means A is the danghter of P

Which of the following means that K 15 the mother-in-law of M 7
(n) MINIK4]

(b) MINIKI]

() KS5I9M3IN

(d}  E1J9N4M

150. If the median of the following observations is 26, the value of x is

10, 12,15, 17, x+ 2, x+ 4,31, 33, 36, 42
(a) 24
by 23
(c) 31
(dy 17
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145.

146.

147.

148,

144,
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T WEer W UA 5.5 YT WIS 1 9F 16,5 7, a9 JEe07 Jee @ 0w
{ap 135

{b) B0

(c) 12.5

(dy 12

fos | & 9 = e afes wE § 0
{a) Hﬁlﬁ'ﬁr

(b)

{cy BT

(d}  TTHIEA

syTeeE O AT a5 Fel B

(o)  HTAME

(b) =g

(<) A T2

(d) TEITEEH

ey O/ = 15 T 30 F T d S S Sy e e £ 7
ta) 103

(b) 90

e 118

{d) 88

T THEA AT AT
1,0,1,8,27.7

(a) 24

(b) 44

fc) 60

(dy 64

|, AlPFradEfm A PEITIE
1, AdPF o ETEA PEARE
I AYPH M ETFA PFOAT L
4 ASPEWISMETFA PHTET
s M EE KM THEE?
() MINIK4]

(b} MOINSK3J

(e} KSJOM3N

idy K3J9NaM

ofr fre FEET T s 26 ke F A B
10, 12, 15, 17, x+ 2, =+ 4, 31, 33, 36, 42
(a}) 24
(b) 23
e} 3l
(dy 17

47
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